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simple1 and
simple2:

P ∧Q

P

P ∧Q

Q Q → R

R

P ∧R

〈〈P 〉〉 := π〈〈P ∧Q〉〉
〈〈Q〉〉 := π′〈〈P ∧Q〉〉
〈〈R〉〉 := 〈〈Q → R〉〉〈〈Q〉〉

〈〈P ∧R〉〉 := (〈〈P 〉〉, 〈〈R〉〉)

[P ∧Q]1

P

[P ∧Q]1

Q Q → R

R

P ∧R

P ∧Q → P ∧R
1

〈〈P 〉〉 := π〈〈P ∧Q〉〉
〈〈Q〉〉 := π′〈〈P ∧Q〉〉
〈〈R〉〉 := 〈〈Q → R〉〉〈〈Q〉〉

〈〈P ∧R〉〉 := (〈〈P 〉〉, 〈〈R〉〉)
〈〈P ∧Q → P ∧R〉〉 := λ〈〈P ∧Q〉〉.〈〈P ∧R〉〉

2022agda-logic-1 January 1, 2022 18:41



2

distributivity1:

(P ∧R) ∨ (Q ∧R)

[P ∧R]1

P

P ∨Q

[P ∧R]1

R

(P ∨Q) ∧R

[Q ∧R]1

Q

P ∨Q

[Q ∧R]1

R

(P ∨Q) ∧R

(P ∨Q) ∧R
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(P ∧R) ∨ (Q ∧R)

[P ∧R]1

P

P ∨Q

[Q ∧R]1

Q

P ∨Q

(P ∨Q)

(P ∧R) ∨ (Q ∧R)

[P ∧R]1

R

[Q ∧R]1

R

R

(P ∨Q) ∧R

This one, which seems to require ‘→’, fails in some way:

(P ∨Q) ∧R

P ∨Q

[P ]1
(P ∨Q) ∧R

R

P ∧R

(P ∧R) ∨ (Q ∧R)

[Q]1
(P ∨Q) ∧R

R

Q ∧R

(P ∧R) ∨ (Q ∧R)

(P ∧R) ∨ (Q ∧R)

(P ∧R) ∨ (Q ∧R)
1
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